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Finite Geometric Series
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Determine how many terms in the geometric sequence and then find the sum


5.           				6.     









7.     
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(part D’s series should read -2-6-18-…..-1458)
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−3+ 9 − 27 + ...− 243










-3+9-27+...-243
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Find the sum of the finite geometric series.



3. −3 + 6 −12 + 24 − 48 + 96 − 192 + 384 4. 6 - 4 +   8 _ 3   -   16 _ 9   +   32 _ 17  



Determine how many terms the geometric series has, and then find the sum of 
the series.
5. -12 - 4 -   4 _ 3   -⋯-   4 _ 243  6. 0.3 + 0.03 + 0.003 +⋯+ 0.000003



7. 6 + 30 + 150 +⋯+ 468,750 8. -3 + 9 - 27 +⋯-177,147



Write the finite geometric series from its given description, and  
then find its sum.



9. A geometric series that starts with 2, ends with 
-6250, and has a common ratio of -5



10. A geometric series with 5 terms that begins 
with 1 and has a common ratio of   1 __ 3  .
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17. Business A business wants to buy a parcel of land in order to expand its operations. 
The owner of the land offers two purchase options: Buy the land today for $100,000, or 
buy the land in five equal payments of $22,000 where the payments are due a year apart 
and the first payment is due immediately. The chief financial officer for the business 
determines that money set aside for the purchase of the land can be invested and earn 
5.4% interest annually. Which purchase option is the better deal for the business? 
Explain.



18. 



  A. 2 + 6 + 18 + ··· + 1458       1094



  B. 2 - 6 + 18 - ··· + 1458       -2186



  C. -2 + 6 - 18 + ··· - 1458       2186



  D. -2 -6 -8 - ··· - 1458       -1094



H.O.T.  Focus on Higher Order Thinking



19. Represent Real-World Problems The formula for the future value FV of an annuity 
consisting of n regular payments of p dollars at an interest rate of i (expressed



  as a decimal) is FV = p  (    (1 + i)  n  - 1
 _________ i  ) , which is valid for any payment rate (such as



  monthly or annually) as long as the interest rate has the same time unit. The formula 
assumes that the future value is calculated when the last payment is made. Show how to 
derive this formula.
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Find the sum of the finite geometric series.



3. −3 + 6 −12 + 24 − 48 + 96 − 192 + 384 4. 6 - 4 +   8 _ 3   -   16 _ 9   +   32 _ 17  



Determine how many terms the geometric series has, and then find the sum of 
the series.
5. -12 - 4 -   4 _ 3   -⋯-   4 _ 243  6. 0.3 + 0.03 + 0.003 +⋯+ 0.000003



7. 6 + 30 + 150 +⋯+ 468,750 8. -3 + 9 - 27 +⋯-177,147



Write the finite geometric series from its given description, and  
then find its sum.



9. A geometric series that starts with 2, ends with 
-6250, and has a common ratio of -5



10. A geometric series with 5 terms that begins 
with 1 and has a common ratio of   1 __ 3  .
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−4 −12 − 36 − ...−108










-4-12-36-...-108


oleObject1.bin

image3.emf



2 + 4 + 8 +16,...+128










2+4+8+16,...+128


